MATH 114: Calculus 1 (Experienced) Quiz 4
Fall 2005 -

Lab Time: Your Name: BULKA.»L[ ﬁ_é

a. (5 points.) The function f(z) below is not continuous at z = 2:
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Use the information above to evaluate the following limit:

L = [4siaqr) < ‘

o e §
Explain your answer. £ |

YQUL KP\QU ‘FCL) 7 and ~((Iar:) LS a\lju:w-.hnuovJ

e 5 vﬁxmh@f‘ ( gt 1) then
ca\h Ay G’SC(_L‘.'pf‘ To— K=~
¢W {

LA -(C(il' L gnd lim lfﬁi‘hﬂ:&\__ L <o lin £(x)= s

: O X=)
% =2 2" 2 x-L7 VX ¢} 3

b. (5 points.) Explain why the following function is (or is not) continuous at h = 0. (You do not need
to evaluate a limit or do much calculation to answer this question.)
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2. BONUS (5 points.) Obtain a relatively simple expression for ALII]G Q(h). . LQQF‘éﬁ [‘be_
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